

Factorizations of a Gazillion Fairly Easy Polynomials
by Bon Crowder, MathFour.com

$x^3-x = x(x+1)(x-1)$	$x^2-2x+1 = (x-1)(x-1)$	$x^2+2x+1 = (x+1)(x+1)$	$x^2-1 = (x+1)(x-1)$	$x^2-1 = (x-1)(x+1)$
$x^3-4x = x(x+2)(x-2)$	$x^2-3x+2 = (x-1)(x-2)$	$x^2+3x+2 = (x+1)(x+2)$	$x^2-x-2 = (x+1)(x-2)$	$x^2+x-2 = (x-1)(x+2)$
$x^3-9x = x(x+3)(x-3)$	$x^2-4x+3 = (x-1)(x-3)$	$x^2+4x+3 = (x+1)(x+3)$	$x^2-2x-3 = (x+1)(x-3)$	$x^2+2x-3 = (x-1)(x+3)$
$x^3-16x = x(x+4)(x-4)$	$x^2-5x+4 = (x-1)(x-4)$	$x^2+5x+4 = (x+1)(x+4)$	$x^2-3x-4 = (x+1)(x-4)$	$x^2+3x-4 = (x-1)(x+4)$
$x^3-25x = x(x+5)(x-5)$	$x^2-6x+5 = (x-1)(x-5)$	$x^2+6x+5 = (x+1)(x+5)$	$x^2-4x-5 = (x+1)(x-5)$	$x^2+4x-5 = (x-1)(x+5)$
$x^3-36x = x(x+6)(x-6)$	$x^2-7x+6 = (x-1)(x-6)$	$x^2+7x+6 = (x+1)(x+6)$	$x^2-5x-6 = (x+1)(x-6)$	$x^2+5x-6 = (x-1)(x+6)$
$x^3-49x = x(x+7)(x-7)$	$x^2-8x+7 = (x-1)(x-7)$	$x^2+8x+7 = (x+1)(x+7)$	$x^2-6x-7 = (x+1)(x-7)$	$x^2+6x-7 = (x-1)(x+7)$
$x^3-64x = x(x+8)(x-8)$	$x^2-9x+8 = (x-1)(x-8)$	$x^2+9x+8 = (x+1)(x+8)$	$x^2-7x-8 = (x+1)(x-8)$	$x^2+7x-8 = (x-1)(x+8)$
$x^3-81x = x(x+9)(x-9)$	$x^2-10x+9 = (x-1)(x-9)$	$x^2+10x+9 = (x+1)(x+9)$	$x^2-8x-9 = (x+1)(x-9)$	$x^2+8x-9 = (x-1)(x+9)$
$2x^3-6x = 2x(x+3)(x-3)$	$x^2-4x+2 = (x-1)(x-2)$	$x^2+4x+2 = (x+1)(x+2)$	$x^2-3x-2 = (x+1)(x-2)$	$x^2+3x-2 = (x-1)(x+2)$
$2x^3-18x = 2x(x+3)(x-3)$	$x^2-5x+6 = (x-2)(x-3)$	$x^2+5x+6 = (x+2)(x+3)$	$x^2-x-6 = (x+2)(x-3)$	$x^2+x-6 = (x-2)(x+3)$
$2x^3-32x = 2x(x+4)(x-4)$	$x^2-6x+8 = (x-2)(x-4)$	$x^2+6x+8 = (x+2)(x+4)$	$x^2-2x-8 = (x+2)(x-4)$	$x^2+2x-8 = (x-2)(x+4)$
$2x^3-50x = 2x(x+5)(x-5)$	$x^2-7x+10 = (x-2)(x-5)$	$x^2+7x+10 = (x+2)(x+5)$	$x^2-4x-10 = (x+2)(x-5)$	$x^2+4x-10 = (x-2)(x+5)$
$2x^3-72x = 2x(x+6)(x-6)$	$x^2-8x+12 = (x-2)(x-6)$	$x^2+8x+12 = (x+2)(x+6)$	$x^2-5x-12 = (x+2)(x-6)$	$x^2+5x-12 = (x-2)(x+6)$
$2x^3-98x = 2x(x+7)(x-7)$	$x^2-9x+14 = (x-2)(x-7)$	$x^2+9x+14 = (x+2)(x+7)$	$x^2-6x-14 = (x+2)(x-7)$	$x^2+6x-14 = (x-2)(x+7)$
$2x^3-128x = 2x(x+8)(x-8)$	$x^2-10x+16 = (x-2)(x-8)$	$x^2+10x+16 = (x+2)(x+8)$	$x^2-7x-16 = (x+2)(x-8)$	$x^2+7x-16 = (x-2)(x+8)$
$2x^3-162x = 2x(x+9)(x-9)$	$x^2-11x+18 = (x-2)(x-9)$	$x^2+11x+18 = (x+2)(x+9)$	$x^2-8x-18 = (x+2)(x-9)$	$x^2+8x-18 = (x-2)(x+9)$
$3x^3-3x = 3x(x+1)(x-1)$	$x^2-4x+3 = (x-3)(x-1)$	$x^2+4x+3 = (x+3)(x+1)$	$x^2+2x-3 = (x+3)(x-1)$	$x^2-2x-3 = (x-3)(x+1)$
$3x^3-12x = 3x(x+2)(x-2)$	$x^2-5x+6 = (x-3)(x-2)$	$x^2+5x+6 = (x+3)(x+2)$	$x^2+x-6 = (x+3)(x-2)$	$x^2-x-6 = (x-3)(x+2)$
$3x^3-27x = 3x(x+3)(x-3)$	$x^2-6x+9 = (x-3)(x-3)$	$x^2+6x+9 = (x+3)(x+3)$	$x^2-3x-9 = (x+3)(x-3)$	$x^2+3x-9 = (x-3)(x+3)$
$3x^3-48x = 3x(x+4)(x-4)$	$x^2-7x+12 = (x-3)(x-4)$	$x^2+7x+12 = (x+3)(x+4)$	$x^2-4x-12 = (x+3)(x-4)$	$x^2+4x-12 = (x-3)(x+4)$
$3x^3-75x = 3x(x+5)(x-5)$	$x^2-8x+15 = (x-3)(x-5)$	$x^2+8x+15 = (x+3)(x+5)$	$x^2-5x-15 = (x+3)(x-5)$	$x^2+5x-15 = (x-3)(x+5)$
$3x^3-108x = 3x(x+6)(x-6)$	$x^2-9x+18 = (x-3)(x-6)$	$x^2+9x+18 = (x+3)(x+6)$	$x^2-6x-18 = (x+3)(x-6)$	$x^2+6x-18 = (x-3)(x+6)$
$3x^3-147x = 3x(x+7)(x-7)$	$x^2-10x+21 = (x-3)(x-7)$	$x^2+10x+21 = (x+3)(x+7)$	$x^2-7x-21 = (x+3)(x-7)$	$x^2+7x-21 = (x-3)(x+7)$
$3x^3-192x = 3x(x+8)(x-8)$	$x^2-11x+24 = (x-3)(x-8)$	$x^2+11x+24 = (x+3)(x+8)$	$x^2-8x-24 = (x+3)(x-8)$	$x^2+8x-24 = (x-3)(x+8)$
$3x^3-243x = 3x(x+9)(x-9)$	$x^2-12x+27 = (x-3)(x-9)$	$x^2+12x+27 = (x+3)(x+9)$	$x^2-9x-27 = (x+3)(x-9)$	$x^2+9x-27 = (x-3)(x+9)$
$4x^3-4x = 4x(x+1)(x-1)$	$x^2-5x+4 = (x-4)(x-1)$	$x^2+5x+4 = (x+4)(x+1)$	$x^2+3x-4 = (x+4)(x-1)$	$x^2-3x-4 = (x-4)(x+1)$
$4x^3-16x = 4x(x+2)(x-2)$	$x^2-6x+8 = (x-4)(x-2)$	$x^2+6x+8 = (x+4)(x+2)$	$x^2+2x-8 = (x+4)(x-2)$	$x^2-2x-8 = (x-4)(x+2)$
$4x^3-36x = 4x(x+3)(x-3)$	$x^2-7x+12 = (x-4)(x-3)$	$x^2+7x+12 = (x+4)(x+3)$	$x^2+x-12 = (x+4)(x-3)$	$x^2-x-12 = (x-4)(x+3)$
$4x^3-49x = 4x(x+7)(x-7)$	$x^2-8x+16 = (x-4)(x-4)$	$x^2+8x+16 = (x+4)(x+4)$	$x^2-16 = (x+4)(x-4)$	$x^2-16 = (x-4)(x+4)$
$4x^3-64x = 4x(x+4)(x-4)$	$x^2-9x+20 = (x-4)(x-5)$	$x^2+9x+20 = (x+4)(x+5)$	$x^2-x-20 = (x+4)(x-5)$	$x^2+x-20 = (x-4)(x+5)$
$4x^3-81x = 4x(x+9)(x-9)$	$x^2-10x+24 = (x-4)(x-6)$	$x^2+10x+24 = (x+4)(x+6)$	$x^2-2x-24 = (x+4)(x-6)$	$x^2+2x-24 = (x-4)(x+6)$
$4x^3-108x = 4x(x+6)(x-6)$	$x^2-11x+28 = (x-4)(x-7)$	$x^2+11x+28 = (x+4)(x+7)$	$x^2-3x-28 = (x+4)(x-7)$	$x^2+3x-28 = (x-4)(x+7)$
$4x^3-144x = 4x(x+8)(x-8)$	$x^2-12x+32 = (x-4)(x-8)$	$x^2+12x+32 = (x+4)(x+8)$	$x^2-4x-32 = (x+4)(x-8)$	$x^2+4x-32 = (x-4)(x+8)$
$4x^3-192x = 4x(x+9)(x-9)$	$x^2-13x+36 = (x-4)(x-9)$	$x^2+13x+36 = (x+4)(x+9)$	$x^2-5x-36 = (x+4)(x-9)$	$x^2+5x-36 = (x-4)(x+9)$
$5x^3-5x = 5x(x+1)(x-1)$	$x^2-6x+5 = (x-5)(x-1)$	$x^2+6x+5 = (x+5)(x+1)$	$x^2+4x-5 = (x+5)(x-1)$	$x^2-4x-5 = (x-5)(x+1)$
$5x^3-20x = 5x(x+2)(x-2)$	$x^2-7x+10 = (x-5)(x-2)$	$x^2+7x+10 = (x+5)(x+2)$	$x^2+3x-10 = (x+5)(x-2)$	$x^2-3x-10 = (x-5)(x+2)$
$5x^3-45x = 5x(x+3)(x-3)$	$x^2-8x+15 = (x-5)(x-3)$	$x^2+8x+15 = (x+5)(x+3)$	$x^2+2x-15 = (x+5)(x-3)$	$x^2-2x-15 = (x-5)(x+3)$
$5x^3-80x = 5x(x+4)(x-4)$	$x^2-9x+20 = (x-5)(x-4)$	$x^2+9x+20 = (x+5)(x+4)$	$x^2+x-20 = (x+5)(x-4)$	$x^2-x-20 = (x-5)(x+4)$
$5x^3-125x = 5x(x+5)(x-5)$	$x^2-10x+25 = (x-5)(x-5)$	$x^2+10x+25 = (x+5)(x+5)$	$x^2-25 = (x+5)(x-5)$	$x^2-25 = (x-5)(x+5)$
$5x^3-180x = 5x(x+6)(x-6)$	$x^2-11x+30 = (x-5)(x-6)$	$x^2+11x+30 = (x+5)(x+6)$	$x^2-x-30 = (x+5)(x-6)$	$x^2+x-30 = (x-5)(x+6)$